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Q.1 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Sheela tried for argue with him though she knew that it was of no use.

Ans 1. to argue with him
2. of argue with him
3. in argue with him

4. on argue with him

Question ID : 264330143966
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate idiom for the given situation.
Don’t annoy or irritate Raghav, otherwise he will oppose our proposal in the meeting.
Ans 1. Pass the buck
2. Pour oil on troubled water
3. Rub in the wrong way

4. Loose the ground

Question ID : 264330144122
Status : Answered
Chosen Option : 2

Q.3 Select the ANTONYM of the word repel to fill in the blank.
Her bright blue eyes everyone in the party.

Ans 1. disgust
2. vacillate
3. attract

4. amenable

Question ID : 264330149856
Status : Answered
Chosen Option : 2




Q.4 Select the most appropriate ANTONYM of the given word.
Ludicrous

Ans 1. Ridiculous
2. Insane
3. Wise

4. Pathetic

Question ID : 264330143219
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate option that expresses the given sentence in active voice.
The car was manufactured by the company in a factory overseas.

Ans 1. The factory overseas was used by the company to manufacture the car.
2. The company manufactured the car in a factory overseas.
3. The car was being manufactured by the company in a factory overseas.

4. The car was manufactured in a factory overseas by the company.

Question ID : 264330144191
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate idiom for the given statement.

Doing things in a hurry does not give fruitful results.
Ans 1. Nothing succeeds like success.

2. Still waters run deep.
3. Haste is waste.

4. Wisdom is too high for a fool.

Question ID : 264330142661
Status : Answered
Chosen Option : 2

Q.7 Select the option that expresses the given sentence in passive voice.
The garment business has made Archie rich.

Ans 1. Archie has been made rich by the garment business.
2. Archie have been made rich by the garment business.
3. Archie had been made rich by the garment business.

4. Archie is made rich by the garment business.

Question ID : 264330149478
Status : Answered
Chosen Option : 1




Q.8 Select the most appropriate ANTONYM of the word given in brackets to fill in the
blank.
The (chill) of the sun on his face was a welcome respite from the chilly
morning air.

Ans 1. glow
2. blush
3. warmth

4. brightness

Question ID : 264330147541
Status : Answered
Chosen Option : 3

Q.9 Select the INCORRECTLY spelt word.
Ans 1. Infer

2. Neutral
3. Apprehensive

4. Maintanence

Question ID : 264330148941
Status : Answered
Chosen Option : 4

Q.10 Parts of the following sentence have been given as options. One of them may contain
an error. Select the option that contains the error. If you don’t find any error, mark ‘No
error’ as your answer.

By virtue off the power given to the leader, the followers accepted his decision.

Ans 1. No error
2. By virtue off
3. the power given to the leader

4. the followers accepted his decision

Question ID : 264330143036
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate synonym of the underlined word.
Education gives people the knowledge and skills they need to stay healthy, get jobs
and foster tolerance.

Ans 1. entrench
2. distrust
3. lethargy

4. endurance

Question ID : 264330143651
Status : Answered
Chosen Option : 4




Q.12 Select the most appropriate ANTONYM of the underlined word.
The doctor reassured Raman that the lump was benign, which brought immense relief
to both him and his family.

Ans 1. Harsh
2. Rugged
3. Malignant

4. Healthy

Question ID : 264330147547
Status : Answered
Chosen Option : 4

Q.13 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
A. disrupted, posing major threats to progress
B. global health systems have been
C. health services have been
D. overwhelmed and many essential
E. in fighting other deadly diseases

Ans 1. BECDA
2. EADCB
3. BDCAE

4. DEABC

Question ID : 264330149496
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate option that can substitute the underlined segment in the
following sentence.

As the orchestra began to play, the audience was transported to another world,
enthralled by the psychological effects of the music and the skill of the musicians,
who performed each note with precision and passion.

Ans 1. influenced by the overall scenario
2. impacted by feelings
3. swept away by the emotive power

4. taken in by the effect on emotions

Question ID : 264330149590
Status : Answered
Chosen Option : 2

Q.15 Select the option that can be used as a one-word substitute for the given group of
words.
A person who is against the use of violence and war to settle disputes

Ans 1. Fatalist
2. Hedonist
3. Pacifist

4. Misogynist

Question ID : 264330143935
Status : Answered
Chosen Option : 4




Q.16 Identity the correct spelling of the underlined word.
Alcohol causes intocsication.

Ans 1. intoxication

2. intaxicasion

3. entoxkation

4. intakcication

Question ID : 264330143198
Status : Answered
Chosen Option : 1

Q.17 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.

P. so they design the advertisement of products in such a way

Q. the main target consumers of food companies

R. that consumers are stimulated to buy them repeatedly

S. are children and youth of the country

Ans 1. QRSP
2. RPQS
3. PRQS
4. QSPR

Question ID : 264330151313
Status : Answered
Chosen Option : 4

Q.18 Parts of the following sentence have been given as options. Select the option that
contains an error.

The team of scientists were conducting experiments to test their hypothesis.

Ans 1. experiments to test
2. The team of scientists
3. their hypothesis

4. were conducting

Question ID : 264330142559
Status : Answered
Chosen Option : 2

Q.19 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
P. due to the lofty hilly terrain, curves and cliffs
Q. the route to Badrinath
R. is one of the most arduous one
S. amidst the most scenically beautiful place on the earth

Ans 1. QRPS
2. QSPR
3. PRSQ
4. PQRS

Question ID : 264330149704
Status : Answered
Chosen Option : 1




Q.20 Select the most appropriate ANTONYM of the given word.

Ans

Fixation
1. Formulation

2. Indifference
3. Inclination

4. Reformation

Question ID : 264330144357
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The solar system is made up of the sun, planets, moons, asteroids, and comets that

1. around it. Its mysteries and wonders have captured the imagination of
people from all walks of life, and it continues to be an area of active research and exploration.
The sun is at the centre of the solar system and is the largest object in it. The eight planets in
the solar system, 2. Earth, orbit around the sun in nearly circular paths. While
the sun is at the centre of the solar system and dominates its gravitational pull, each planet
has its own unique set of characteristics that makes it a fascinating object to study. Each
planet in the solar system has unique characteristics and features. 3. planets,
such as Mercury and Venus, are small and rocky, while others, like Jupiter and Saturn, are
much larger and made up mostly of gas. The outer planets, Uranus and Neptune, are

4. as ‘ice giants’ because they contain more water, ammonia, and methane than
the gas giants. In addition to the planets, the solar system also has numerous moons,
asteroids, and comets. These objects provide important 5. about the formation and
evolution of the solar system.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank 1.

Ans

1. form
2. orbit
3. stick

4. fly

Question ID : 264330144193
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The solar system is made up of the sun, planets, moons, asteroids, and comets that

1. around it. Its mysteries and wonders have captured the imagination of
people from all walks of life, and it continues to be an area of active research and exploration.
The sun is at the centre of the solar system and is the largest object in it. The eight planets in
the solar system, 2. Earth, orbit around the sun in nearly circular paths. While
the sun is at the centre of the solar system and dominates its gravitational pull, each planet
has its own unique set of characteristics that makes it a fascinating object to study. Each
planet in the solar system has unique characteristics and features. 3. planets,
such as Mercury and Venus, are small and rocky, while others, like Jupiter and Saturn, are
much larger and made up mostly of gas. The outer planets, Uranus and Neptune, are

4. as ‘ice giants’ because they contain more water, ammonia, and methane than
the gas giants. In addition to the planets, the solar system also has numerous moons,
asteroids, and comets. These objects provide important 5. about the formation and
evolution of the solar system.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank 2.
Ans 1. excluding

2. diluting
3. dissolving

4. including

Question ID : 264330144194
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The solar system is made up of the sun, planets, moons, asteroids, and comets that

1. around it. Its mysteries and wonders have captured the imagination of
people from all walks of life, and it continues to be an area of active research and exploration.
The sun is at the centre of the solar system and is the largest object in it. The eight planets in
the solar system, 2. Earth, orbit around the sun in nearly circular paths. While
the sun is at the centre of the solar system and dominates its gravitational pull, each planet
has its own unique set of characteristics that makes it a fascinating object to study. Each
planet in the solar system has unique characteristics and features. 3. planets,
such as Mercury and Venus, are small and rocky, while others, like Jupiter and Saturn, are
much larger and made up mostly of gas. The outer planets, Uranus and Neptune, are

4. as ‘ice giants’ because they contain more water, ammonia, and methane than
the gas giants. In addition to the planets, the solar system also has numerous moons,
asteroids, and comets. These objects provide important 5. about the formation and
evolution of the solar system.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank 3.
Ans 1. Few

2. Some
3. Many
4. Alot

Question ID : 264330144195
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The solar system is made up of the sun, planets, moons, asteroids, and comets that

1. around it. Its mysteries and wonders have captured the imagination of
people from all walks of life, and it continues to be an area of active research and exploration.
The sun is at the centre of the solar system and is the largest object in it. The eight planets in
the solar system, 2. Earth, orbit around the sun in nearly circular paths. While
the sun is at the centre of the solar system and dominates its gravitational pull, each planet
has its own unique set of characteristics that makes it a fascinating object to study. Each
planet in the solar system has unique characteristics and features. 3. planets,
such as Mercury and Venus, are small and rocky, while others, like Jupiter and Saturn, are
much larger and made up mostly of gas. The outer planets, Uranus and Neptune, are

4. as ‘ice giants’ because they contain more water, ammonia, and methane than
the gas giants. In addition to the planets, the solar system also has numerous moons,
asteroids, and comets. These objects provide important 5. about the formation and
evolution of the solar system.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank 4.
Ans 1. classified

2. magnified
3. restricted

4. indulged

Question ID : 264330144196
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The solar system is made up of the sun, planets, moons, asteroids, and comets that

1. around it. Its mysteries and wonders have captured the imagination of
people from all walks of life, and it continues to be an area of active research and exploration.
The sun is at the centre of the solar system and is the largest object in it. The eight planets in
the solar system, 2. Earth, orbit around the sun in nearly circular paths. While
the sun is at the centre of the solar system and dominates its gravitational pull, each planet
has its own unique set of characteristics that makes it a fascinating object to study. Each
planet in the solar system has unique characteristics and features. 3. planets,
such as Mercury and Venus, are small and rocky, while others, like Jupiter and Saturn, are
much larger and made up mostly of gas. The outer planets, Uranus and Neptune, are

4. as ‘ice giants’ because they contain more water, ammonia, and methane than
the gas giants. In addition to the planets, the solar system also has numerous moons,
asteroids, and comets. These objects provide important 5. about the formation and
evolution of the solar system.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank 5.
Ans 1. sets

2. derivations
3. clues

4. biases

Question ID : 264330144197
Status : Answered
Chosen Option : 3

Section : General Intelligence




Q.1

Ans 1.
2.
3. Six
4. Question ID : 264330147171
Status : Answered
Chosen Option : 4
Q.2
Ans

V)
2.

P

V)

3

V)

3

Question ID : 264330151186
Status : Answered
Chosen Option : 1




Q.3

Ans
Question ID : 264330147423
Status : Answered
Chosen Option : 4
Q.4
Ans
Question ID : 264330146978
Status : Answered
Chosen Option : 3
Q5
Ans ¥ Ell’ld %
- —and +
- +and x
- +and - Question ID : 264330150919

Status : Answered
Chosen Option : 4




Q.6

Ans 1.7 :334

2.

3. Question ID : 264330147028

4 Status : Answered
Chosen Option : 2

Q.7 EFHD is related to LMOK in a certain way based on the English alphabetical order, In the same way, OPRN is
related to VWYU. To which of the following is JKMI related, following the same logic?

Ans 1. QSPT
2. TUWS
3. QRTP
4. RSTP Question ID : 264330146716
Status : Answered
Chosen Option : 3
Q.8
Ans 1.
2.
3.
4.

Question ID : 264330146564
Status : Answered
Chosen Option : 3




Q.9

Ans 1.

2. ISZE

Question ID : 264330147047
Status : Answered
Chosen Option : 4

Q.10

Ans

Question ID : 264330146496
Status : Answered
Chosen Option : 3




Q.11

Ans 1.
2.
3.

Question ID : 264330146424
4 111 .
Status : Answered
Chosen Option : 2
Q.12

Ans 1. 52
2. 50
3.
4.

Question ID : 264330146345
Status : Answered
Chosen Option : 1

15, 16, 20, 29, 45, ?

Q.13 Which number will replace the question mark (?) to complete the given series?

Ans 1. 70
2. 65
3. 75
4. 60
Question ID : 264330150692
Status : Answered
Chosen Option : 1
Q.14
Ans 1
2.
3. Question ID : 264330147002

Status : Answered
Chosen Option : 3




Q.15

Ans 24
- 21
- 16
Question ID : 264330146994
- 18 Status : Answered
Chosen Option : 3
Q.16
Ans 1209733
2. 189: 21
3. 100:12
Question ID : 264330150872
4.63:7 Status : Answered
Chosen Option : 3
Q.17
Ans

Question ID : 264330147481
Status : Answered
Chosen Option : 2




Q.18

Ans 1. Both conclusions II and III follow
2. Only conclusion III follows
3, Only cnnclusion " fDHOWS Question ID : 264330147465
Status : Answered
4. Both conclusions I and II follow Chosen Option : 3
Q.19
Ans 1.
2.
3.
4,
Question ID : 264330147217
Status : Answered
Chosen Option : 3
Q.20
Ans 1.
2.
3.
4.

Question ID : 264330146966
Status : Answered
Chosen Option : 2




Q.21 select the set in which the numbers are related in the same way as are the numbers of the following sets.

(NOTE: Operations should be performed on whole numbers, without breaking down the numbers into their
constituent digits. E.g. 13 — Operations on 13 such as adding/subtracting/multiplying, etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(22,44, 8)

(32,48, 6)

Ans 1. (36, 64, 7)
2. (42,63, 6)

3. (56, 128, 9) Question ID : 264330150849

4. (48,98, 8) Status : Answered
Chosen Option : 2

Q.22
Ans 1.
2.
3.
4. Question ID : 264330147276
Status : Answered
Chosen Option : 2
Q.23
Ans 1.
2.
3. Question ID : 264330146674

Status : Answered
4. Chosen Option : 2




Q.24

Ans 1. 4

Question ID : 264330147444
Status : Answered
Chosen Option : 4

Q.25

Ans 1. 8

2.10
3.9
4. 7

Question ID : 264330146913
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q1 . . . . . x% 342
Which of the following expressions is equal to the expression . ?
X

Ans +1
p X2
x—2
x—1
2. —
x+2

x+1
x+2

Question ID : 264330150625
Status : Answered
Chosen Option : 2




Q.2

Ans

1.
2.
3. 30
420
Question ID : 264330148007
Status : Answered
Chosen Option : 4
Q.3
Ans
1.
2.
3.
4.
Question ID : 264330148804
Status : Answered
Chosen Option : 2
Q4
Ans 177
2.
3. 81
4. 78

Question ID : 264330146458
Status : Answered
Chosen Option : 3




Q5

Ans

1.
2.
3.
Question ID : 264330148236
4. 129 loss Status : Answered
Chosen Option : 3
Q.6
Ans . 1.75
- 1.8
. 1.6 Question ID : 264330146817
Status : Answered
L3 Chosen Option : 2
Q.7
Ans .13
-5
- 17
12 Question ID : 264330147794
Status : Answered
Chosen Option : 3
Q.8
Ans 49
89
79
89
80
89
50
89

Question ID : 264330146841
Status : Answered
Chosen Option : 3




Q.9

Ans 1.
Question ID : 264330147910
Status : Answered
Chosen Option : 1
Q.10
Ans 1.
2. 12%
3.
4. Question ID : 264330147853
Status : Answered
Chosen Option : 2
Q.11
Ans
- 125
- 103
- 110

Question ID : 264330148121
Status : Answered
Chosen Option : 4




Q12 Iftan 0.tan20 = 1, then the value of cot 58 is:

Ans 1. 1

2.1
3. _,Jg
“3

Question ID : 264330149463
Status : Answered
Chosen Option : 3

Q.13
Ans 1.
2.
3. 23%
4. Question ID : 264330149335
Status : Answered
Chosen Option : 1
Q.14
Ans 1. 300
2200
3. 250
4. 350 Question ID : 264330151963
Status : Answered
Chosen Option : 1
Q.15
Ans 1.
2.
3.
4.
Question ID : 264330147913

Status : Answered
Chosen Option : 1




Q.16

Ans 1.
2.
3.
Question ID : 264330147868
4. Status : Answered
Chosen Option : 3
Q.17
Ans 1. 536440
2. 580440
3. 530450
4. 540550
Question ID : 264330150752
Status : Answered
Chosen Option : 3
Q.18
Ans
1.
2.
3.
4,

Question ID : 264330147817
Status : Answered
Chosen Option : 3




Q19 Find the average of prime numbers lying between 69 and 92.

Ans 1. 76
2. 77
3. 78
4. 79
Question ID : 264330149434
Status : Answered
Chosen Option : 4
Q.20
Ans 1.
2.
3.
4. Question ID : 264330148208
Status : Answered
Chosen Option : 2
Q.21
Ans
1.
2.
3.
4.,

Question ID : 264330148011
Status : Answered
Chosen Option : 1




Q.22

Ans
1.
2.
3.
4.
Question ID : 264330148073
Status : Answered
Chosen Option : 4
Q.23
Ans 1. 356,000
2. 354,000
3. 360,000
4. 366,000 Question ID : 264330148135
Status : Answered
Chosen Option : 3
Q.24
Ans 1 40.0
2. 39.0
3. 395 Question ID : 264330150840
Status : Answered
4..40.5

Chosen Option : 3




Q.25

Ans 1 36 days
2. 45 days
3. 40 days
4. 54 days

Question ID : 264330149772
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1
Ans 1.
2.
3.
4. Question ID : 264330145602
Status : Answered
Chosen Option : 1
Q.2
Ans 1.
2.
3.
4. Question ID : 264330145711
Status : Answered
Chosen Option : 4
Q.3
Ans 1.
2.
3.
4.

Question ID : 264330149372
Status : Answered
Chosen Option : 1




Q4

Ans
Question ID : 264330144764
Status : Answered
Chosen Option : 4
Q.5
Ans 1 Durga Lal
2.
3. Kumudini Lakhia
4.
Question ID : 264330148688
Status : Not Answered
Chosen Option : --
Q.6
Ans
Question ID : 264330144692
Status : Answered
Chosen Option : 4
Q.7
Ans

Question ID : 264330144732
Status : Answered
Chosen Option : 4




Q.8

Ans 1.

Question ID : 264330145715
Status : Not Answered
Chosen Option : --

@9 Indian Academy of Sciences, founded in 1934 by CV Raman, is situated in

Ans L. Mumbai

2.

3. Bangalore

4. New Delhi Question ID : 264330150385
Status : Not Answered
Chosen Option : --

1% Who amongst the following raised the banner of revolt against Nasiruddin Khusrau?

Ans 1.
2.
3.
4.
Question ID : 264330148561
Status : Not Answered
Chosen Option : --
Q.11
Ans 1.
2.
3.
4.

Question ID : 264330145843
Status : Answered
Chosen Option : 4




Q.12

Ans 1.

4 Question ID : 264330145965
Status : Not Answered
Chosen Option : --

Q13 Which of the following physical divisions of India is densely populated?
Ans L The North Indian Plains
2. The islands

3. The Himalayan Range
4. The Thar Desert

Question ID : 264330149630
Status : Answered
Chosen Option : 1

Q.14
Ans 1.
2.
3.
4.
Question ID : 264330146561
Status : Answered
Chosen Option : 3
Q.15
Ans 1.
2.
3.
4.

Question ID : 264330145973
Status : Not Answered
Chosen Option : --




Q.16

Ans 1.
2.
3.
4,
Question ID : 264330145743
Status : Answered
Chosen Option : 2
Q.17
Ans 1.
2.
3.
4 Question ID : 264330145639

Status : Not Answered
Chosen Option : --

Q18 Which of the following is a public sector industry?

Ans 1. BHEL
2. Dabur Industry

3. Bajaj Auto
4 TISCO

Question ID : 264330149627
Status : Answered
Chosen Option : 1

Q19 Who was the author of the famous book ‘The Economic History of India’?

Ans 1.

2. PC Dutta
3.

4. RC Dutt

Question ID : 264330150229
Status : Not Answered
Chosen Option : --




Q.20

Ans 1.
2. Odisha
3. Manipur
4. Nagaland
Question ID : 264330148633
Status : Not Answered
Chosen Option : --
Q.21
Ans 1.
2.
3.
4,
Question ID : 264330146301
Status : Not Answered
Chosen Option : --
Q.22
Ans 1.

2.

3. Joseph Henry

4.
Question ID : 264330150717

Status : Not Answered
Chosen Option : --

Q23 Who was the first American male athlete to win the Marathon gold medal in the Olympic Games?

Ans 1.

2.

3.

4. John Hayes
Question ID : 264330150178

Status : Not Answered
Chosen Option : --




Q.24

Ans

Iy

. Article 51A (b)
. Article 51A (c)

N

»

Article 51A (d)

Question ID : 264330151227
Status : Not Answered
Chosen Option : --

Q.25

Ans

=

N

w

Writing
Politics
Painting

- (zhazal

Question ID : 264330148684
Status : Answered
Chosen Option : 1
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